Test 5
(March 26, 2007)
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Determine the frequency in rad/s at which the current i is maximum or minimum and find the value of i.
Solution: In terms of the Laplace transform, the impedance of the LC elements is sL1 + sL2||(1/sC2); Z = sL1 + 
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Z ( ( at a frequency given by 
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, which gives 
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 rad/s. In addition, Z ( ( as s ( (, because the power of s in the numerator is greater than that of the denominator. Under these conditions, i = 0.
Z = 0 when s = j(z = 0 and when 
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. This gives: 
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rad/s. At these frequencies, 
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